a(d z) (um) for PV Ratio a(dy) (um) for PV Ratio o(d x) (um) for PV

Ratio

10?

20 40 60 80 100120140160 180200
Number of tracks

o0 X) (um)

10?

T T IRE

0 20 40 60 80 100120 140160180200
Number of tracks

nlto (=N I-Vat FP-No IV =

H
S

0(0 x) x for merged vertices (um)
o
[}

20 40 60 80 100120140 160180200

Number of tracks

= R

-+
annog)

[EBsmn]

i

0.9
0.8]

0.7

e S e S

20 40 60 80 100120140160180200

S

Number of tracks

10°

0.5

0

20 40 60 80 100120140160 180200
Number of tracks

a(0y) (um)

0(0 2) (um)

Ratio

=

20 40 60 80 100120140160 180200
Number of tracks

10°

0.9H

20 40 60 80 100120140160 180200
Number of tracks

o
C"ca

._\
b

e e

=
<
N

a(2 y) for merged vertices (m)
o
1

20 40 60 80 100120140160180200
Number of tracks

H
=) 8
N L

0(3 2) for merged vertices (um)
o
)

20 40 60 80 100120140160180200
Number of tracks



	Contents
	Page 1


